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HUR B 350 L85 RHT2-A108 AZ TS AT Ta—Nd ArTa—L80 AFTa—/160

mEx WH Rz i Hz i Hx i 2 E= HERH Hx i
A B mn mm 304 316 mm 304 316 wm 304 316 oam 304 316 nm 304 316 w304 316
6 Vs 10.5 1.0 0.237 0.238 1.2 0.278 0.280 1.5 0.336 0.328 1.7 0,073 0.375 2.4 0,484 0.487 = - -
8 Vs 13.8 1.2 0.377 0.379 1.65 0.499 0.503 2.0 0.588 0.592 2.2 0.636 0.640 3.0 0.807 0.812 - - -
10 3 17.3 1.2 0.481 0.484 1.65 0.643 0.647 2.0 0.762 0.767 2.3 0.850 0.865 3.2 112 1.13 - - -
15 V2 21.7 1.65 0.824 0.529 2.1 1.03 1.03 2.5 1.20 1.20 2.8 1.2 1.33 3.7 L66 167 47 1.9 2.00
20 3% 27.2 1.65 1.05 1.06 21 1.31 1.32 25 1.54 1.55 2.9 1.76 177 3.9 2.26 2.28 5.5 12.97 2.99
25 1 340 1.651.33 1.34 2.8 218 2.19 3.0 2.32 2.33 3.4 2.59 2.61 4.5 3.31 3.33 6.4 4.40 4.43
32 1Vs 42.7 1.65 1.69 1.70 2.8 2.78 2.80 3.0 2.97 2.99 3.6 3.5 3.53 4.9 461 464 &4 579 582
40 1%z 48.6 1.65 1,93 1.94 2.8 3.19 3.21 3.0 3.41 3.43 3.7 414 4.16 51 55 556 7.1 7.34 7.30
50 2 60.5 1.65242 243 2.8 402 405 3.5 4.97 500 3.9 550 553 5.5 7.54 7.58 8.7 1.2 11.3
65 2V 76.3 2.1 3.88 391 3.0 548 551 3.5 6.35 6.39 52 921 027 70121 12.2 9.5 158 150
80 3 B89.1 21 455 458 3.0 6.43 648 4.0 B.48 853 55115 1.5 7.6 154 155 111 21.6 21,7
90 3% 101.6 2.1 520 524 3.0 7.37 7.42 4.0 9.72 9.79 5.7 13.6 13.7 8.1 189 19.0 12,7 281 28.3
100 4 1143 2.1 587 591 3.0 832 837 40 11.0 11.1 6.0 162 16.3 B.622.6 22.8 13.5 33.9 3.1
125 5 139.8 2.8 9.56 9.62 3.4 11.6 11.6 5.0 168 169 6.621.9 22.0 9.530.8 3.0 159 49.1 49.4
150 6 165.2 2.8 11.3 1.4 3.4 13.7 13.8 5.0 20.0 20.1 7.0 28.0 28.1 11.0 42.3 42.5 18.2 66.6 7.1
200 8 2163 2.8 149 150 4.02.2 21.3 &5 34.0 3.2 B.2425 428 12.7 64.4 64.8 23.0 111.0 112.0
250 10 267.4 3.4 224 2.5 4.0 26.2 2.4 &5 42.2 425 9.350.8 60.2 151 04.9 955 28.6 170.0 1710
300 12 3185 4.0 31.3 31.5 4.5352 35.4 &5 50.5 50.8 10.3 79.1 79.6 17.4 131.0132.0 33.3 237.0 238.0
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